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Varnraam-

Let's all cycle

g: 1208

- a: 1850 -
Standard frame Lowered frame Heightened frame
a = length 1850 mm a =length 1850 mm a =length 1850 mm
b = width 658 mm b = width 658 mm b = width 658 mm
c = height 1157 mm c = height 1157 mm c = height 1157 mm
d=inseam 760 - 910 mm d =inseam 670 - 820 mm d =inseam 850 - 1000 mm
e = frame height 510 mm e = frame height 420 mm e = frameheight 600 mm
f = entry height 222 mm f = entry height 222 mm f = entry height 222 mm

g = heart distance 1208 mm g = heart distance 1208 mm g = heart distance 1208 mm

sheet-format v2021-11-05.1



	Sheet2_EN
	Drawing View3
	Drawing View4


